
jardim
a=20,70m²

policiais
a=15,16m²

jardim
a=20,70m²

i=
10

%
de

sc
e

i=
10

%
de

sc
e

i=10%
sobe

i=10%
sobe

Auditório 80 pax
a=95,76m²

Palco
a=44,88m²

policiais
a=15,16m²

cabine som
a=5,79m²

rack
a=11,12m²

wc

VT8 VT8 (15/40) VT8

VT9 VT9 (15/40)

VT10 (20/40) VT10

VT13 VT13 (15/40) VT13

V
T

33

V
T

33

V
T

33
(1

5/
40

)
V

T
33

V
T

37

V
T
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V
T

39
V

T
39

(1
5/

40
)

V
T

39
(C30)
E12(MORRE)

(C30)
E16(MORRE)

(15/50)
P23

(15/40)
P37

(15/40)
P35

(15/40)
P36

(15/50)
P28

(15/45)
P21

(15/50)
P27

(15/50)
P22

(15/40)
P19

(C30)
E11(MORRE)

E17(MORRE)

(15/40)
P20

(15/45)

VT15 (15/40)

V
T

33

V
T
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